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i s £ AT E: £ B
B & Er 2,540 2350 2,675 Odit & HT 27 26 37 63
7o 45 HT 1581 1511 1,664 OER KIFH 32 16 20 36
#|0Odt & M 2800 2,387] 2,725 OFFE—TH 37 29 35 64
HER#%E 1,945  1,839] 2,004 OEmFTR_=-TH 125 134 153 287
FA [l 57 7 A BT 4,123 3,909] 4235 OmFR=TH 137 101 123 224
i [ OFEEAZTH 445 298 415 OFIIE=TH 1124 1,197] 1,301] 2,498
OmERMTH 66 65 79 E |0 E—TH 1582 1,838] 1,811] 3,649
£t 13,500 12,359] 13,797 Ot F—_TH 2370 2302] 2418 4,720
RESX—TH 1451 1,327] 1,475] 2802
HERA—TH 3,725 3,360 3,930 REAZTH 2430] 2058] 2,393] 4,451
H|BER&=TH 2212  1,993] 2453 ER=TH 1,798 1,777] 1,807] 3584
HERG=TH 744 843 995 REAMTH 1486 15971 1,713] 3310
| EEFAHANTE 904 947] 1,084 OREA/RTH 1,795 1,889] 1,887] 3,776
| HESRGARTE 1507 1,699 1,802 EX—TH 1,897 1,556] 1,742] 3298
OE A KIFHT 1157 1,125] 1,201 OBmER=TH 922 857 946] 1,803
E 10,249 9,967 11,465 MEA=TH 1,098] 1,075 1217] 2,292
OBEEA/IMTH 872 817 955] 1,772
EOA—TH 1,881 1,690 1,929 A |OEERETH 694 791 842] 1,633
RBOAZTH 3118] 2,623 2,889 QLit&E—TH 1,418 1,220 1.471] 2,691
| BOAR=TH 2407 2,081 2,309 tHEZTH 1,864 1,788] 1,840] 3,628
OFE—TH 1571 1,290 1,438 THE=TH 2305 2398] 2497 4895
h|OFE=TH 1,731 1.447] 1,521 LHEmTH 22771 2,180| 2,351 4,531
OFE=TH 19 14 15 THERTH 2858 2919] 2974 5,893
K| EANE—TE 1,016 986] 1,134 £t 30,599] 29,892] 32,008] 61,900
BAANER_TH 2211 2,032 2,187
E 13,954 12,163] 13,422 OmFT®R—TH 1440 1,322 1543] 2865
OMmFTHR=_TH 689 726 785 1,511
Oith F=TH 1,143 947 1,075 F|OEFER=TH 1465 1.368] 1,433] 2801
©idt & Hr 189 236 222 LtFE—TH 2768 2223 2534 4757
OFE—TH 71 77 80 IFE=TH 25371 2135] 2472] 4607
a2 ZArE—TH 1,668 1,860 1,974 EFE=TH 1,844 1519 1,734] 3,253
AHNEZTH 2,343] 2586 2,399 AJIET—TH 871 829 870 1,699
ANE=TH 1,833 1,812 1,914 = |ORIJNIB=TH 756 707 828 1,535
N AHNEMTH 1,835 1,911 2,191 OLti&—TH 1,116 783 950 1,733
ANERTH 2560 2,721] 2,954 it 13486] 11,612] 13,149 24,761
ADENRTH 919 995 1,088
Ot E—TH 367 373 351 CEARRIFHEFMEAMATIEIELTLNS=H XD
ROt E=TH 281 246 229 BEERXEBEOBEZENS—DODETI(TB) T2H\FF
OREA/ARTH 21 29 33 LEICHEIFHELTWREDLH S,
OBEARARTH 333 358 409 (ATE2HICONTEEDHHED)
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